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Lesson 3B

P
5 %\)‘.Mms
There are five salespeople in a car dealership: Mike,

Frank, Stacey, Carl, and Dennis. In the first quarter of
the year, their sa s follows:

Mike sold more cars than Frank sold.

E QUIZ

ents above are true, which of the

6“\( ml(lgtralso be true?
N koW |
Ly A. Mike sold mote cars than Stacey sold.

B. Carl sold more cars than Mike sold.
C. Dennis sold fewer cars than Mike sol
more cars th sold>
enms sold fewer cars than Frank sold.

There are|two books on a desk.

1)Oneb
is a mystery novel,

2) The hiology textbook has a soft cover,

3) One book is required reading.

4) One book has a hard cover and is a new book.

5) The book that is not new is required reading.

information above?

F. The biology textbook is new.
G. The biclogy textbook has a hard cover.
~ H. The hardcover book is not new.
J. The soffcover book 1s not new.
niovel is required reading.

EGE

102 KAPLAND

is a biology textbook, and the other book

2. Which of the following must be true, based on the

HK

an
Elea

Six people sit at } gable.
1) Sandy is sitting between Mike and Jay.

2) Agnes is sitting across from Mike.
@mx‘[ to Laura and acrosi from Sandy.
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Logical Reasoning |

DY b
%a\ 97/7\»)

stions 4 and 5 refer to the following information.

the é_ode below, (1) each letter represents the same
erdiin all four sentences, (2) each word is represented

nly one letter; and (3) in any given sentence, the

5. may or may not be presented in the same order as
ords.

Q 0 F

turn brown each autumn.”

X means

G Y E B means
are red every autumn.”
H B 8 W means
turn - yellow  in autumn,”
J Z T E  means
are green  all winter.”

Which word is represented by E?
E. maples

G. pines

H. green

J. are

K. Cannot be determined from the information
given.

. Cannot be determined from the mformation
given,

P | WJo b
) )Y B Y e
e (ks ¥
Questianis 6 and 7 refer to the following information.

At a school, four female students are waiting for their

school photographs to be taken, on ime. The girls
wear dresses that are blue, lavendegz\kﬁld white.

1) Danielle is not wearing white.

2) Joanne is wearing the lavender dress.

3) Beth is photographed immediately after Joanne.

4) Melanie, who is wearing the blue dress, is
photographed after Beth.

5) The girl wearing lavender is photographed after the
girl wearing pink.

6. The girl wearing the white dress is in which
position?

F first

G- second

H. third

J. fourth

K. Cannot be determined from the
information given.

i or is Danielle wearing?
A. pink
B. lavender
C. blue
D. white
E. Cannot be determined from the
information given.

KAPLAN) 103
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Lesson 3C

dia is filling soda machines with soda. Each 3;@\5/3105 is equal to which of the following
machine should get 25 cans. If she has 140 sodas numbers?

and fills all but the last machine to capacity, how E. 55555

many sodas will go into the last machine? G. 55’555 % 100
H. 555X 55
J. 555X 555

=
imi
o
]
o
oL
p
~
v

11. When x = 2, which is the value of

W B (\f ") -3 -0
C. 9
S RIEDA

- 2 % R B (B D E)

o Na RS (PSSt PN vy

OB 6 (D (D 4RO T\’,;L @ Lz’;) -
(&

9. What is the greatest common factor of: 0\ ~%

B2z

>

-I ]6 IKAPLAN)
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Session 3 Homework
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Session 3 Homework

13 _ x . y\=
2 (3+ )ﬁ 5, xy(y+x)

F. 31 A

4
G 9l B, x+vy
H 9 C. x2+)?
g2l D. 22+ 2
K. 40- E. ﬁﬁﬁ

@ B (D&

4.1 5.3_ 541
3 g X3t TTy ) 7X3
1,27
24+ =
A 12 6 5
21
2 17
B. = 17
3 E 136
104
C-W G &
22 T 119
D Rl
9 0 8_5
69 vy
E %
17 J 2_5
T
215
KT

148 KAPLAW




Arithmetic | Practice

12
1

36 ,
K. 52

FRACTIONS/DECIMALS/PERCENTAGES

\,’l) —-6 . Answers and expianations can be found on page 174.

A
\'\ What is % expressed as a percent and as a decimal?

0.7 is equivalent to what and what percent

3.
- k{ /”s 4. 12%% is equivalent to what fraction? What isitasa
decimal? '
[ ATy
13 . . .
V(, A, vy is equivalent to what decimal number and what
percent?

6. What is 540% as a decimal number and as an
improper fraction?

Lp|.1:. Bjw wio wo|k

7. 0.16 is equivalent to what fraction and what percent
(rounded to the nearest integer)?

IKAPLAN) 149
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Session 3 Homework

8. Whatis 17 expressed as a percent and as a 3. There are 357 people atiending a school play.
decimal‘?SO Assuming that all but one row of seats in the theate
’ is completely full and that each Tow fits 24 people,
how many rows of seats are there in the theater?

9. What is % expressed as a percent and as a ‘g ig
decimal? C. 15
D. 19
E. 20
10. 95% is equivalent to what fraction and what & EEME
decimal?
4. Gavroche has 897 trading cards. He wants to
11, Express % as a decimal. What is it as a percent? buy enough small boxes to hold all of his current
collection and the 200 additional cards he plans to
buy this year. If each box holds 40 cards, how mar
@E is equivalent to what improper fraction and what boxes should he buy? :
percent (rounded to the nearest integer)? F. 22 :
‘ H. 27
J. 28
K 30

ARITHMETIC REMAINDER

Answers and explanations can be found on page 174,

E@HEDd

1. Fernando has 338 photographs. If he can fit 4 5. Fllais stuffing envelopes. She has 48 red pages,
s photo album, how many 25 white pages, and 84 blue pages. If she needs
el he-album if to put 2 red pages, 1 white page, and 4 blue pages
in every envelope to make it complete, how many
complete envelopes can she make? '

21
24
25
48
84

Al
84
85 2,
/A B MmE
| b

2. Taishais counting votes from\lk{é@l election.
There were 3 candidates running for treasurer, and
students either voted for 1 of those 3 or they didn’t
vote at all. If there are 420 students in the school
and half of them voted for Marcus, one-third of
them voted for Mary, and one-seventh voted for
Edward, how many studenis did not vote?

F. 10
G. 20
H 42
J. 105
K. 140

SEReY-

A BT

(B (D (D KD

150 KAPLAN)
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Arithmetic | Practice

SCIENTIFIC NOTATION
IS and explanations can be found on page i76. Answers and explanations can be found on page 176.
Which of the following is 0.807519 rounded to the 1. Which of the following is equivalent to 2.02 X 1047
sarest ten thousandths? A. 202
0.81 B. 2,020
. 0.808 C. 2200
., 0.8076 D, 20,200
D.. 0.8075 E. 202,000
.E. 0.807
(A (EH(CH M EY
) 2. Which of the following is equivalent to
ich of the following is 10,695,559,992 tounded 3.14 % 10722
o the nearest million? Q F. 314

B, 10,690,000,000 G. 314
G 10,695,000,000 H. 0314
H. 10,695,560,000 J. 0.0314

J. 10,6963000,000 K. 0.00314
"K. 10,700,000,000
' R {s—m' K
3. Which of the following is 12(;" 5 expressed in
hich of the following is equivalent to the value of scientific notation?
.03 rounded to the nearest hundredth and multiplied A, 27X 102
B. 0.27x 10!
C. 27x107}
D. 2.7% 1072
E. 027Xx1072

L
wﬂ)\\§ xto
Ipress 9W>< 1072 in sclentlﬁ notation.

EECOWE

Which of the following is equivalent to 299,960,141 ; '.

rounded to the nearest hundred thousand? H x\ D

F. 299,000,000 J. 9.4

G. 299,900,000 K451 10% \L

H. 299,960,000 , G H D KD
5. 299.999,000 \¢ 4¢ " .

K. 300,000,000

KAPLAW {51
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Session 3 Homework

ABSOLUTE VALUE

Answers and explanations can be found on

@ When x = 7 which is the value of

| Q uChs)

w(/ﬁ by

E.

4
A.—_‘,—
2
7

T

,__..—
——

o
G. —%
H 0
.3
K. -43-

3. ([f5|+10)+—5)=

A 5%
B. 4-15
C. 3%
D. 4%
E. -5%
B

152 KATLAW

A E O E

B D (E)

4, 3|-22| +3=

12
15
18

FQwhat does (2 - 20| —-3x — 3| =7

B 15 ’2&’23 /»%(75
K. 27 (Z/ <,\/\ /A’B}C @

ww;pw

4 2_7 2
Ax—
6. Whenx = *l,éhich “« the value ofj—’iixl
34 |-x
|
F 3
G 1
A
H 15
3 2
)1
K. 27
)
=
A, O
5
e
B. 1%
5
c. 23
1
D. 5;
5
E. 73
BB
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Lesson 48

CONSECUTIVE MULTIPLES
The Challenge:

To ¢alculate multiples of a given number, multiply the humber by positive integers. To calculate consecutive
tiples, multiply that number by positive integers that increase by 1 each time.

A. List the three smallest multiples of both 6 and 8.

B. Four consecutive multiples of 6 yield a sum of 156.
What are these multiples?

Questions

@

N ‘
3. Thieeconsecutive-multiples of 7 have a sum

at is tlf greatest of thes

L) P (A

7‘:4’

15. Five consecutive muitiples 1 have adum of

220. What is the greatest of The

C. Five consecutive multiples of 3 yield a sum the
equal to the product of 7 and 15. What are th
multiples?

14. Three consecutive multiples of 4 have a sum of
What is the greatest of these numbers?

F. 8
G. 12
H. 16
J
K

. 20
. 24
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Algebra |

What is the value of 3x(9 9x ywhen x ‘ ? i % = 6, what is the 'talue of y, in termsof x ?
5 .

RIG

——a—3

)

What is the value of a in the equation above?
23

EP

2 7(+-%¥%’+><HD(~>(H§ 23D
45

2570
55 L/b“, D 2

— 3D mECDE
442100

achel is now 11 vears old. Five years ago, Lily
was twice as old as Rachel. How old"15 Lily now? .

F.o12 o £
® g: 12 (= \2_§>
=S

1 :

2 _ UGN

o - L [ 5=

7 ‘ ‘ 7. ( gf n is an inte@v, hich of the following MUST
e

A s ,(/'.g 2%
B. 3n+4 ' K K
C. 4n+10 '
'}
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Session 4 Homework

Algebra I Practice

EVALUATE EXPRESSION 12. Forx = 8 and y = 3, what is the value of
4
— 9
Answers and explanations can be found on page 277. 2(y? —x)’ /( Z 2
1. Whenx = 0 and y = 0, what is the value of F. ——= 2 < _ )
(3x— 6)2x + 1)+ 57 18 /ZQ —’8> -5
G. &
) 2
2. When x = 10 and y = 20, what is the value of H. Il \
1,
28y I %

3. Whenx = 75 and y = 1, what is the value of
2 4 1 ?

6' B @ Hy
75y

@rx = —/10 andy = +/ 10, what is the val
4, Whenx=22andy = %,whatisthevalue of “5e|=x]||y]|?

2=y A, =500 | D‘
J\ (— ]L o
4
5, Whenx = 3,y = 4, and z = 0, what is the value of D. 100
3x + 2xy + 3y o E. 500 -
6z ) - g (0 B BT

6. Whenx =1,y =2, and z = 3, what is the value of

(x— 1)y — Dz —3)? 14. Forx = 6 and y = 3, what is the value of
4ej—x|+ =10y ?
F. —54
7. Whenx = 2,y =2, and z = 2, what is the value of \ /() k ¥ —’\O‘\ %q
3xy — 3xz + 32y 7 .
. 54 P
Kowos LM Q 5
8. Whenx =2,y =1, and z = 3, what is the value of (F G HD

15x2 + 23y10 + 247

15. Forx = | and y = 2, what is the value of

9. When x = 2, what is the value of x5 — 3x3 + 2x — 7 ? 4x2« 3y + 5x 7
A, 29
1 . 3 B. 4
18. Whenx = > what is the value of 3x> 7 C. 54
D. 58
E. 486

11. When x = 20, what is the value of 2x2 — 15 7
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Algebra | Practice

x=3andy =7, then

_}L+_L:
x ¥

2lg Rl Me Z— R

= Z4andy = 6,thenx2 +y + 32+ x =

-232
- =122
—72
122
166

20.

21.

22,

When x = 2,y =4, and z = 3, what is the value of
2x3 =332 + 627

F. —-14
G 14
H. 34
J. 86
K 110

Whenx =4,y = 2,and z = 3, what is the value of
x2+2y2 4+ 322 +47

33

37

45

. 51

. 55

T OW R

BB D E

When x = —2, what is the value of
393 ~ 22 +4x— 77

F. —63
G, 47
H. -31
J. 15
K. 1

SOLVE EQUATIONS WITH ONE VARIABLE

Answers and expianations can be found on page 273.

1

Solve for x in the following equation:

x = {82 — 4]

A, 72
B. -34
C. 28
D. 30
E. 60

BB R
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Solve for x in the following equation:

(=5 1=x

F. -25
G. -5
H. 0
J. 1
K. 5

Solve for x in the following equation;

2_=x
376

mEAPE
o7 2l v <IN N S R

p—

A By DR

Solve for x in the following equation:

x=—15(=7)
F. —105
G. -75
H O -22
I 64
K. 105

HEOE
=

Solve for x in the following equation:
2% = %(3 +52)

3.5

7

3
14
28

REEQ™

GO

Solve for x in the following equation:
x+1=+v8l,x=0

A 8
B. ©
C. 4410
D. 10
E. 82

BB

. Solve for x in the following equation:

_1p141
Jc—2+3+4
F. 1
1
G.112
1
H.16
1
¥ 12
K. 2

O]

. Solve for x in the following equation:

x+2=14

12
14
16
17
20

mEOR >

|
Y
o
ks
{op}

B



Algebra I Practice

Solve for x in the following equation:

/2 =432
4
4y2

8
82
16

o

Solve for x in the following equation:

=1f1.2
214 3

Solve for x in the following equation:

32
3x=“§

1
9
1
3

BBOCTE

Solve for x in the following equation:

~j2- Y18
Jx =|2 7|

-1

Solve for x in the following equation:

x=2/8 + V2

4

2410

572

9/2
18

Alan and Bob are house painters. For every square
foot Alan paints, Bob is able to paint 2 square
feet. If Alan painted 200 V2 square square feet,
how many square feet did Bob paint?

F. 200sqft

G. 200v2 sqft

H. 400sqft

J. 400V2 sqft

K. 800 sqft
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x=%m,x20

1
3
33
9

27

mEOFE

18. Solve for x in the following equation:
5x =25
1

25
75
125

REERQE

19. Solve for x in the following equation:

13_52
3 =23

1
2
6
V3
8
0

S L

=
—_

k2

28. Solve for x in the following equation:

(§)2=1,x>0

244 KAPLAD

17. Solve for x in the following equation: 21.

5 _ 23.

Z3.

24,

Solve for x in the following equation:

x=%+%
.
B. %
C. %
D. 1
E. 11i5

If 5 =3, what is the value of the expression 5
3p2_p7 !

F. -30

G. -24

H 0

3 24

K. 30 ;
B (G HY

7% +4=25, whatis the value of x ?

A. 3

B. 5

C. 9

D. 21

E. 36

(A (BB

Ifm + 2 is squared, the result is equal to 4 less
m%. What is the value of m ?
F. -8 "
G, 2




Algebra I Practice

TPg X 34X 36 X 38 = 17 X 18 X 19, then what is the
atue of g 7

Ifx"'fﬂ =|—=7|. Ify = =3, what is the value of x ?

fxy = 50 and y = 2x and x = 0, what is the value
“ofx?

IfE£ = ~10and y = ~10, what does x equal?

<

' If%= 6 and x = 2, what is the value of y ?

. For all positive values of y, if (2x)2 = (3)2 and
= 6, what is the value of y ?

ISy —y=x+36andy=2x,x=

¢ Ify =2andx + 10 + y = 15, what is the value
cofx ?

' Ifﬁ_y = 1 and y = 10, what is the value of x 7

10, (_1_“)("%) =L andx = 8. What s the value ofy?
x Ny 40

11, Ifx2 = —y + 2 and x = 3, what is the value of y ?

12. For all positive values of x, ify = 5 and
(x — ¥)? = 144, what is the value of x ?

F. -7
G, 7
H 13
J. 17
K. 169

13. If 3x —y =2y + 36and y = 2, thenx =

A =10
B. 12%-
C. 14
D. 15%
E. 26%

14. Ifx =5and 15 + x +y = 25, what is the value of y ?

F.

H
B s po]—

R
—
<
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15, IfZ—; = ] and y = 18, what is the value of x 7 19. x=| —7| | i Ify = —3, what is the value ¢
| A, ~10
A —= B. —4
o e
B. 30 D. 10
E. 21
c. 2 BEBOT
D 8
20. x + y = 35 and y = —4. What is the value of x
E. 40+
2 F. —39
B (B ME G. -3l
H. 31
J. 39
2V 1\_ 1 _ . o K. 120
14, (x )( 2y> 100 and x = 5, What is the value of y 7 EVE G
F 1
T20 X : :
: . If  1s positive, which of the following must be
G. '1-(—)‘ A, x> 8
H 10 B. y>
C. x>0
:& 138 D.xy>0
' B @D E £ xry=0 BB
17, If 3x = xy — Sand y = 6, what is the value of x ? 22. If 5—%2 =0, and y is a positive integer, what i
5 value of x ?
A —=
3 F. -y
B. —% G. 0
‘ H y
c. 2 Jo 2
9 K 1
D. % 4 B
23
E. 3
B B B :
ABIGHRE SOLVE EQUATIONS WITH ONE VARIA
IN TERMS OF ANOTHER
2 .

18. If% Ry = %andy = 3, what is the value of x 7 Answers and explanations can be found on page
F. -10 1. Ifx = —y, whai is the value of y in terms of x*
G. 5
H. 6
g 10 2. Ifx =3 - 80, what is the value of y in term
K. 15 :
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Algebra | Practice

fx = 5921 — 3) + 3 + 53, what is the value of y 10, Ifx= S - 6, what is the value of ¥ in terms
in terms of x 7 ofx?
- F. & _¢
. 32 ) 3
o Hx =7+ |, what is the value of y in terms of x ? 4
b% G. —x+6
3
3
“lfx= % + 13, what is the value of y in terms of x ? H. —x— D)
J 2—x
Z _
x:}iﬂé+2,whatisthevaiueofyintermsofx? K. —%(x—6)

Ifx =y +y+y+y+y whatis the value of y in
3

terms of x 2 11, Ifx= 3% + %, what is the value of y in terms of x ?
1fx = 222, what s the value of v in terms of x 7 A &
6
: ¥, dx + 8 B. _ﬁ)::
K==
_ o 8
G. 4x—2 5
_ 4x 12x
H 42 D. =
J &+2 E. 4x
3
K. g — 2
3 @ E I y4
12, Ifx = T what is the value of ¥ in terms of x ?
Ifx = —6%’« - %Z what i.s the value of y in terms of x 7 F. 2vx
| G. 4/x
' Sx Jx
J- W VX
4 H. 2
B. % 3. Vx
151 K. 2xv/2x
C. =
g
Ox
D. 7
36x
E. s
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13.

. Ifx =5y +2—3(y + 2), what is the value of y in

» Ifx =y +{~4|—| 5| + 6, what is the value of y

LA

2

Ifx= =+ 2, what is the value of v in terms of x ?

N

]
b

=
|
s

w
b
B
1]
[o=)

terms of x 7

F. x+2
G x+4

H. x+2
2
J 2x+2

x+ 4

in terms of x ?

A x-3
B. x5
C. x+3
D 3x-5
E. 3x-—-3

. Ifx = gSX — 8 — 3y + 9y, what is the value of y

interms of x 7

5x
K. 2

4x
G —
5
16x
H. 5
5
J. T

K. —5x—4

248 KAPLAN)

ALGEBRAIC REMAINDER

Answers and explanations can be found on page 28

1. When y is divided by 10, the remainder is 5. Wk

will the remainder be if 2y + 3 is divided by 10

. When x is divided by 6, the remainder is 3. Wha

will be the remainder if 2x is divided by 6 7

F. O

G 1

B 2

J 3

K. Cannot be determined from the informati
given, ) _

CE3 (G H

When y is divided by 2, the remainder is 1. Wh
will be the remainder if v + 1 is divided by 4

A. 0

B. 1

C. 2

b. 3

E. Cannot be determined from the informatio
given. .

BB

When x is divided by 5, the remainder is 3. Wha
will be the remainder if x + 3 is divided by 5

F. 0

G.
H.
J.

K.

Cannot be determined from the informa
given,
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